|Z’f‘/7‘/ U (ERON’

| SWING BOLTS  No.E-9970

(# & ) SBS-SBH:SUM22 SBS-S:SUS316
SBS-SBH:EZ

SBS
SBH
C
E B
L
- S

: .

5 oF A

M

e

7

7%

J

WSBSIA T {1k WigR * BB

+—5"—No. No. A@®) - B < C D . ES, @ FR @ E==g i3
* 938454 SBS04025 M 4x0.7 14 25 8 4 4 5 2,160
* 938455 SBS05025 M 5%0.8 14 25 10 5 5 5 2,160
* 938456 SBS05050 M 5x0.8 25 50 10 5 5 10 2,160
* 938457 SBS06050 M 6X1.0 36 50 12 6 6 14 2,160
* 938458 SBS06075 M 6X1.0 45 75 12 6 6 19 2,160
* 938459 SBS08050 M 8x1.25 36 50 16 8 8 23 2,400
* 938460 SBS08075 M 8x1.25 45 75 16 8 8 35 2,490
* 938461 SBS10050 M10X1.5 36 50 20 10 10 35 2,960
* 938462 SBS10075 M10x1.5 50 75 20 10 10 50 3,030
* 938463 SBS10100 M10%1.5 50 100 20 10 10 60 3,860
* 938464 SBS12075 M12x1.75 50 75 24 12 12 95 4,690
* 938465 SBS12100 M12X1.75 50 100 24 12 12 120 4,970
* 938466 SBS12125 M12%1.75 70 125 24 12 12 142 5,350
* 938467 SBS16125 M16X2 80 125 32 16 16 219 7,500
* 938468 SBS16175 M16%2 100 175 32 16 16 300 10,500
* 938469 SBS16250 M16X2 125 250 32 16 16 410 12,300
* 938470 SBS20125 M20%2.5 80 125 40 20 20 460 10,200
* 938471 SBS20175 M20x%2.5 100 175 40 20 20 485 11,600
* 938472 5BS20250 M20x2.5 125 250 40 20 20 510 13,900
% 938473 SBS24150 M24x3 90 150 48 24 24 550 19,800
* 938474 SBS24200 M24x3 110 200 48 24 24 590 21,600

SINCE 1560

916 CADF—959y0—K - EERAE Web ¥ bT! [ 7~V \ (xa\ NABEYA co., L.

FriendsNo.219/2022. 1 1{EkR




WSBH-SBS-S51~ {1tk ffiigzk

* AR

HETA X SBH(38735Y) SBS-S(SUS316)

AGEE) B C D ES3; F3R #—9—No. No. BEg | i | 7—9—No. No. BiEg | ffii
M 4X0.7 200 30 10 = 5 4 |%938475 | SBH04030 5 | 2,550 - - - -
M 5X0.8 25 40 12 6 5 |*938476 | SBH05040 5 | 2,550 - - - -
M 5%0.8 300 60 12 6 5 |%938477 | SBH05060 | 10 | 2,550 - - - -
M 6X1.0 25 40 14 7 6 | %938478 | SBH06040 | 10 | 2,550/ * 938974 | SBS06040S| 10 | 6,900
M 6x1.0 300 50 14 7 6 |%938479 | SBH06050 | 15 | 2,550/ * 938975 | SBS06050S| 15 | 8,650
M 6X1.0 40 75 14 7 6 |%938480 | SBH06075 | 20 | 2,550 - - - -
M 8x1.25 : 25 40 18 9 8 |%938481 | SBH08040 | 20 | 2,810 - - - -
M 8x1.25 30 50 18 9 8 |:%938482| SBHO8050 | 25 | 2,820/ * 938976 | SBS08050S| 25 | 8,150
M 8x1.25 © 40 75 18 9 8 |%938483 | SBHO8075 | 35 | 2,890/ * 938977 | SBS08075S| 35 | 9,850
M10x1.5 30 50 20 12 10 |*%938484 | SBH10050 | 40 | 3,460/ * 938978 | SBS10050S | 35 |10,400
M10x1.5 40 75 20 12 10 | %938485 | SBH10075 | 50 | 3,480/ * 938979 | SBS10075S| 65 |10,700
M10X1.5 40 100 20 12 10 |%938486 | SBH10100 | 65 | 4,550/ * 938980 | SBS10100S | 100 |14,200
M12x1.75 = 50 75 25 14 12 | %938487 | SBH12075 | 80 | 4,520/ * 938981 | SBS120755| 80 17,700
M12%1.75 © 60 100: 25 14 = 12 |%938488 | SBH12100 | 100 | 6,000/ * 938982 | SBS12100S | 100 |18,900
M12X1.75 © 60 125 25 = 14 = 12 | %938489 | SBH12125 | 125 | 6,250/ * 938983 | SBS121255 | 125 |21,700
M12X1.75 : 60 150: 25 : 14 = 12 | %938490 | SBH12150 | 145 | 6,300 - - -
M14X2 60 100 28 16 = 14 | *%938491 | SBH14100 | 140 | 6,500 - -
M14X2 60 125 28 16 = 14 | %938492 | SBH14125 | 170 | 7,300 - - - -
M16X2 60 100: 32 17 16 - - - | %938984 |SBS16100S| 180 (28,800
M16X2 60 125 32 17 16 | %938493 | SBH16125 | 220 | 7,700/ * 938985 | SBS16125S | 220 (34,300
M16X2 75 150 32 17 16 | %938494 | SBH16150 | 255 | 9,350/ * 938986 | SBS16150S | 260 {39,900
M20%2.5 75 150 40 = 22 18 | %938495 | SBH20150 | 435 |12,400 - - -
M20X2.5 100:175: 40 : 22 = 18 | %938496 | SBH20175 | 470 |14,700 - - -
M24X3 75 150 48 @ 25 = 22 | %938497 | SBH24150 | 650 |22,800 - - -
M24x3 100 200 48 = 25 @ 22 | %938498 | SBH24200 | 750 |24,600 - - - -
m{ERSG

\_\*\
A
NN WG

1z

SINCE 1560

NABEYA co., L.

FriendsNo.219/2022. 1 13{ER

CADF—959y0—k « EERRI Web ¥ bT! [ 7T

C—SNUMUIN

917



